Formulaire

Coordonnées cartésiennes :
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Coordonnées cylindriques :
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Coordonnées sphériques :
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Relations :

div(Xy A F) = —rotF - X,
rot( gl‘gdj =0

div(rot) = 0

rot(rot) = grad(div) — A
A = div(grad)

grad(Xy - B) = (X - grad) B + X A rotB

grad(A - B) = (A - grad)B + A A10tB + (B - grad)A + B A rot A

V(F.-F)=2(F-V)F + 2F A (rotF)

div(Xy A B) = — X, - rotB

div( A A Eﬁ — —A-rotB + B -rot4

rot(Xg A B) = Xp -divE — (X - grad)B

rot(AAB)= A4 divE — (A -grad)B — B - divA + (B - grad)4

grad(fg) = f - grad(g) + ¢ - grad(f)
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div(p- V) = p-divV + grad(p) - V

rot(p- V) = p-rotV + grad(p) A V
A(f-g)=f-Ag+2erad(f) - erad(g) + g- Af
div(f - grad(g) — g - grad(f)) = fAg — gAf



